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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE

Subject Code : 21203 Course Code : BCOMH-203GE-2

Course Title : Principles of Micro Economics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions: 2x5=10
N - Al A TR WS ¢

(a) State the law of demand.

sifewis @b S el |

(b) Write down any four factors determining individual demand for a commodity.

<6 T Tieere vifen [ @-ien o [Rag e

(¢) Distinguish between returns to factor and returns to scale.

Totmicra afenie @z Tiatere afenitas S s we)

(d) State why two indifference curves can never intersect each other.

@RS & g0 W @9 ATRE @ FA0O AT |

(¢) What do you mean by substitution effect?

AFTS ool Tere F @Il ?

(f) What is meant by production function?
TV SCHF IS I AN ?

(g) Distinguish between fixed cost and variable cost.

7 39 ¢ RS T W AH e |

(h) Define Perfect Competition.
syt aifstaforet Fits e
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2. Answer any four of the following questions: 5%x4=20

A TP BIFG AT TEd WIS ¢

(a) Whatis budget line? Explain with the help of diagram, the effect of change in income of the Consumer

on the position of the budget line. 1+4=5
AEs @ FE T2 A6 @LA TEAT SA (ol o Ay go, @ifbcan AR
[rRA <wCl |

(b) State the law of variable proportions. Explain different types of returns to scale with the help of
isoquant curves. 1+4=5
AfFean Seives (il e et | Fmiceive @t ooaa e [fen w@eew wgt sfises afonm
[rRA <wCl |

(¢) In which type of market, price discrimation takes place? Explain the conditions of profitability of
price discrimination. 1+4=5

I G0 A W SRE T q0B 7 TN 2L AT 26RO it F |

(d) Explain the difference between profit maximisation and cost minimisation by a firm (use suitable
diagrams).

@B FIGE e AT @) T AT ACIOET Wy AN [ T (TR g =) |

(¢) What is Supply Curve? Show that the Supply Curve under monopoly market is absent.  1+4=5
Q@A @ FECS F @R e (@, GFGHA ACE @9 @R @R TR ql

(f) Give an idea of Oligopoly market. What are the elements of perfect competition and monopoly in

the monopolistic competition. 2+3=5
Sl qreican gt amedl vie | b afeiiEem e = afswfern Semi ¢ g
oAl e

3. Answer any one of the following questions: 10x1=10

T FE GF7 A TR mhe 2
(a) Graphically explain the long-run equilibrium of a firm under perfect competition. 10

s efSrafare A @Ne T AFE SRR, ETbeEa T T FE! |

(b) Write down the necessary and sufficient conditions for consumer’s equilibrium. For a normal
commodity, show that the Price Effect is the sum of Income and Substitution Effect. 2+8=10

(SR SRAGIT e ¢ WA =S 9 @l | 93 FeiRs wad v e @, wiN Ao
%@ Oy 2old ¢ #fi7e 2eas B |
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Subject Code : 21201 Course Code : BCOMH-201C-3
Course Title : Financial Accounting-11

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
I Ao 2T Teq WS 8
(a) What is Minimum Rent?
FE Tl e
(b) What is meant by Re-possession of good?
AR 2THRE JEC0 F @RI 2

(¢) What is meant by instalment payment system?

e TaRE I90e S @IET?

(d) What is Address Commission?

Address Commission < ?

(¢) What is the main objective for invoicing goods to branch at selling price?

Ry w2l =R o1 Somy e
(f) Why is departmental account prepared?
ey R o aee el 2
(g) What is ‘partnership deed’?
‘TG pfeee FICE e

(h) What do you mean by Self Balancing System?

F(FY (o9 9T /S I QIR 2
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2. Answer any four questions: 5%x4=20
GBI 40T TEd W

(a)

(b)

(©

(d)

()

®

BNK21201

Distinguish between ‘Hire Purchase System’ and General Sale.
SloiEy 3! ¢ AYRT RaFwa g Ny om3is |

A and B are partners sharing profits and losses in the ratio of 3 : 2. They decide to admit C as new
partner giving him Yth share of profit. While A and B decide to share profits and losses equally.
C is enable to bring Rs. 2,000 as his share of goodwill and for this reason, the old partners decide
to raise the goodwill account in the books of the firm. Subsequently, after C’s admission, goodwill
account is written off.

Record the raising of goodwill and writing off the same in the books of the firm by means of Journal
entries.

Distinguish between ‘Sale’ and ‘Sale or Return’.
Rewa #fte Ran w9 @F=ees’ T @l |

Ms. Indrani purchased a Laptop from Delta Electronics on 1st January 2015 under Hire Purchase
System. She paid Rs. 5,000 on the date of signing the agreement and the balance in three annual
instalments (payable on 31st December every year) of Rs. 15,900, Rs. 15,700 and Rs. 15,400
respectively. Interest was charged at 10% p.a. 3+2=5

Find out the Cash Price of the Laptop and Hire Vendor Account in the books of Indrani.
TAE! 2 73|
Laptop-4d Cash Price 7 51 @3 Indrani-¥ 32 Hire Vendor Account 2% Il |

Samudragupta commenced a voyage on 01.04.2017 from Kolkata to L.ondon and back. The Voyage
was completed on 31.05.2017. It carried a consignment of Jute on its outward journey and of plant
on its return Journey. The ship was insured and the annual premium was Rs. 15,000. Prepare Voyage
Account from the following particulars:

Rs.
Freight earned (Outward) 1,00,000
Freight earned (Return) 50,000
Port Dues 5,000
Bunker 20,000
Lighterage charges 3,000
Wages and Salaries 20,000
Stores & Coal 6,000
Passage money received 4,000
Annual Depreciation 36,000

Address Commission 5% on outward and 4% on return.
Primage is 5%.
Stores and coal on hand were valued at Rs. 2,000 on 31.05.2017.

Show, how the accounting treatments of shortworking and its recoupment are recorded both in the
books of leasee and leasor.

55 BeoAmtaa AE ¢ ©iF Swermad 3Tl ¢ 3THIgRe I3 Frei vk w91 73, ©f (=ie |
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3. Answer any one question: 10x1=10

TP GF6 AT TG TS 3

(a) Chatterjee Bros. of Kolkata has a Branch in Bankura. From the following particulars, prepare
‘Bankura Branch A/c.” in the books of Chatterjee Bros. for the year ended 31.12.2017.

4

Opening Stock at Branch 65,000

(as on 01.01.2017)
Goods sent to Branch 1,50,000
Cash sent to Branch for expenses:

4

Salaries to the staff 25,000

Petty expensses 7,000 32,000
Sales during the year 2,10,000

Closing stock could not be ascertained, but it is informed that the branch usually sells goods at cost
plus 20%. The Branch Manager was entitled to a commission of 5% on the Profit of the branch after
charging such commission.

(b) Subhas and Chandra are partners in a firm sharing profits and losses in the ratio of 3 : 2. Their Balance
Sheet as on 31.03.2017 is as follows:

Subhas ‘€ Chandra <35 SIAWIS! 2SSt SR [T 3 : 2 TIPS Are-6 3% F7 | 31.03.2017
i Sivra Taeeials zo1 Hwwmel ¢

Liabilities Amount Assets Amount
(Rs.) (Rs.)

Capital Accounts: Building 75,000
Subhas 70,000 | Machinery 40,000
Chandra 50,000 | Stock 25,000
Reserve 10,000 | Debtors 40,000
Creditors 50,000 | Bills Receivable 10,000
Bills payable 20,000 | Cash at Bank 10,000

2,00,000 2,00,000

On 1st April, 2017, they agreed to admit Bose as a partner into partnership for Y4th share of future profits
on the following terms:

(i) Goodwill of the firm valued at Rs. 32,000 and Bose is to bring necessary amount in cash as premium

for goodwill.

(ii) 25% of the reserve is to be kept as provision for Bad debt.
(iii) Machinery is to be reduced to 80% and Building is to be appreciated by 10%.

(iv) A portion of stock costing Rs. 3,000 being proved as worthless and to be written off.

(v) A provision of 5% is to be created for discount on creditors.

(vi) Bose is to bring Rs. 30,000 as capital in cash.

Prepare Revaluation Account, Partners Capital Account and Balance Sheet of the new firm as at 01.04.2017.
A 2l wB |
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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE
Subject Code : 21201 Course Code : BCOMH-201C-3
Course Title : Financial Accounting-11

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
-] #ASlo 2T Teq WS
(a) What is Minimum Rent?
LECERCI I
(b) What is meant by Re-possession of good?
AR 2THRE JEC0 FI @RI 2

(¢) What is meant by instalment payment system?

e TaREl I90e S @R ?

(d) What is Address Commission?

Address Commission < ?

(¢) What is the main objective for invoicing goods to branch at selling price?

Ry w2l 2= o1 Somy e
(f) Why is departmental account prepared?
oy R v dee e 2
(g) What is ‘partnership deed’?
TG pfeee FICE e

(h) What do you mean by Self Balancing System?

F(FY (o9 9T /S T QIR ?
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2. Answer any four questions: 5%x4=20

-] TIFG A TSR WG 3
(a) Distinguish between ‘Hire Purchase System’ and General Sale.
SIoiEy 3! ¢ AYRT RaFwa g Ny oeis |

(b) A and B are partners sharing profits and losses in the ratio of 3 : 2. They decide to admit C as new
partner giving him Yth share of profit. While A and B decide to share profits and losses equally.
C is enable to bring Rs. 2,000 as his share of goodwill and for this reason, the old partners decide
to raise the goodwill account in the books of the firm. Subsequently, after C’s admission, goodwill
account is written off.

Record the raising of goodwill and writing off the same in the books of the firm by means of Journal
entries.

(¢) Distinguish between ‘Sale’ and ‘Sale or Return’.
ey e Reg Wi @aed’ Ny @l

(d) Ms. Indrani purchased a Laptop from Delta Electronics on 1st January 2015 under Hire Purchase
System. She paid Rs. 5,000 on the date of signing the agreement and the balance in three annual
instalments (payable on 31st December every year) of Rs. 15,900, Rs. 15,700 and Rs. 15,400
respectively. Interest was charged at 10% p.a. 3+2=5

Find out the Cash Price of the Laptop and Hire Vendor Account in the books of Indrani.
TAE! 2 7B |
Laptop-49 Cash Price 7 1 @3 Indrani-¥ 32t Hire Vendor Account 2% Il |

(e) Samudragupta commenced a voyage on 01.04.2017 from Kolkata to London and back. The Voyage
was completed on 31.05.2017. It carried a consignment of Jute on its outward journey and of plant
on its return Journey. The ship was insured and the annual premium was Rs. 15,000. Prepare Voyage
Account from the following particulars:

Rs.
Freight earned (Outward) 1,00,000
Freight earned (Return) 50,000
Port Dues 5,000
Bunker 20,000
Lighterage charges 3,000
Wages and Salaries 20,000
Stores & Coal 6,000
Passage money received 4,000
Annual Depreciation 36,000

Address Commission 5% on outward and 4% on return.
Primage is 5%.
Stores and coal on hand were valued at Rs. 2,000 on 31.05.2017.
(f) Show, how the accounting treatments of shortworking and its recoupment are recorded both in the
books of leasee and leasor.
T5fe Tt Ael ¢ ol Twerad sEiaiiel 8 EisRe Jftre Frei v <4 2, ©f (s |
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3. Answer any one question: 10x1=10

T GF5 Ae8a Teq 1S ¢

(a) Chatterjee Bros. of Kolkata has a Branch in Bankura. From the following particulars, prepare
‘Bankura Branch A/c.” in the books of Chatterjee Bros. for the year ended 31.12.2017.

3

Opening Stock at Branch 65,000

(as on 01.01.2017)
Goods sent to Branch 1,50,000
Cash sent to Branch for expenses:

3

Salaries to the staff 25,000

Petty expensses 7,000 32,000
Sales during the year 2,10,000

Closing stock could not be ascertained, but it is informed that the branch usually sells goods at cost
plus 20%. The Branch Manager was entitled to a commission of 5% on the Profit of the branch after
charging such commission.

(b) Subhas and Chandra are partners in a firm sharing profits and losses in the ratio of 3 : 2. Their Balance
Sheet as on 31.03.2017 is as follows:

Subhas ‘€ Chandra <35 SIcWIS! 2AfSSItTa SR [T 3 : 2 TIPS Are-6 % F7 | 31.03.2017
i Sivra Taeeals 2o fwwmel ¢

Liabilities Amount Assets Amount
(Rs.) (Rs.)

Capital Accounts: Building 75,000
Subhas 70,000 | Machinery 40,000
Chandra 50,000 | Stock 25,000
Reserve 10,000 | Debtors 40,000
Creditors 50,000 | Bills Receivable 10,000
Bills payable 20,000 | Cash at Bank 10,000

2,00,000 2,00,000

On 1st April, 2017, they agreed to admit Bose as a partner into partnership for Y4th share of future profits
on the following terms:

(i) Goodwill of the firm valued at Rs. 32,000 and Bose is to bring necessary amount in cash as premium

for goodwill.

(ii) 25% of the reserve is to be kept as provision for Bad debt.
(iii) Machinery is to be reduced to 80% and Building is to be appreciated by 10%.

(iv) A portion of stock costing Rs. 3,000 being proved as worthless and to be written off.

(v) A provision of 5% is to be created for discount on creditors.

(vi) Bose is to bring Rs. 30,000 as capital in cash.

Prepare Revaluation Account, Partners Capital Account and Balance Sheet of the new firm as at 01.04.2017.
A 2l wB |
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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE

Subject Code : 21202 Course Code : BCOMH-202C-4

Course Title : Business Statistics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
(a) The arithmatic mean of 7, x -2, 10, x + 3 is 9, find the value of x.
(b) Mean = 600, median = 594, find the mode.
(c) Find the Pearson’s measure of skewness when mean =86, median = 80 and standard deviation = 43,
(d) Write down the range of coefficient of correlation. What do you mean by perfect correlation?
(e) Obtain the standard deviation of 4, 8, 10, 12, 16.
(f) What is Index Number? State the uses of Index Number.
(g) What do you mean by primary data and secondary data?
(h) Write two merits of median.

2. Answer any four questions: 5%x4=20
(a) Calculate the median of the following frequency distribution.
Class: 10-15 15-20 20-25 25-30 30-35
Frequency: 6 9 11 7 7

(b) Show that the correlation coefficient between two variables lies between —1 and 1.

(¢) The following data refer to the dividend (%) paid by two companies A and B over the last 7 years:
A 4 3 4 15 10 11 9
B 12 3 3 15 6 4 10

Calculate the coefficient of variations and comment.

(d) The first two moments about the value 4 are 12 and 220 respectively. Find the mean and variance
of the observations.

(e) Obtain the equation of the line of regression of yield of rice (y) on water (x) from the data given

below:

Water in 12 18 24 30 36 42 48
inches (x)

Yield of Rice | 53 57 62 72 80 87 84
in Tons ()

BNK21202 Please Turn Over
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(f) The Arithmetic mean of the following distribution is 46-5. Find the missing frequency of the
distribution:
Marks 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of students 10 20 ? 25 15
3. Answer any one question: 10x1=10

(a) (i) Define rank correlation.

(i) Inacompetition, two Judges ranked 8 students A, B, C, D, E, F, G, H in order of their preference
as shown in the following table:

A B C D E F G

First Judge 5 2 8 1 4 6 3 7
Second Judge 4 5 7 3 2 8 6
Find the rank correlation coefficient using Spearman’s formula. 2+8=10

(b) What are regression lines? Why is it necessary to consider two lines of regression? From the following
data find out the two regression equations:

X 1 2 3 4 5 6 7

Y 2 4 7 6 5 6 5 2+2+6=10

BNK21202
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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE

Subject Code : 21202 Course Code : BCOMH-202C-4

Course Title : Business Statistics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
(a) The arithmatic mean of 7, x -2, 10, x + 3 is 9, find the value of x.
(b) Mean = 600, median = 594, find the mode.
(c) Find the Pearson’s measure of skewness when mean =86, median = 80 and standard deviation = 43,
(d) Write down the range of coefficient of correlation. What do you mean by perfect correlation?
(e) Obtain the standard deviation of 4, 8, 10, 12, 16.
(f) What is Index Number? State the uses of Index Number.
(g) What do you mean by primary data and secondary data?
(h) Write two merits of median.

2. Answer any four questions: 5%x4=20
(a) Calculate the median of the following frequency distribution.
Class: 10-15 15-20 20-25 25-30 30-35
Frequency: 6 9 11 7 7

(b) Show that the correlation coefficient between two variables lies between —1 and 1.

(¢) The following data refer to the dividend (%) paid by two companies A and B over the last 7 years:
A 4 3 4 15 10 11 9
B 12 3 3 15 6 4 10

Calculate the coefficient of variations and comment.

(d) The first two moments about the value 4 are 12 and 220 respectively. Find the mean and variance
of the observations.

(e) Obtain the equation of the line of regression of yield of rice (y) on water (x) from the data given

below:

Water in 12 18 24 30 36 42 48
inches (x)

Yield of Rice | 53 57 62 72 80 87 84
in Tons ()

BNK21202 Please Turn Over
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(f) The Arithmetic mean of the following distribution is 46-5. Find the missing frequency of the
distribution:
Marks 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of students 10 20 ? 25 15
3. Answer any one question: 10x1=10

(a) (i) Define rank correlation.

(i) Inacompetition, two Judges ranked 8 students A, B, C, D, E, F, G, H in order of their preference
as shown in the following table:

A B C D E F G

First Judge 5 2 8 1 4 6 3 7
Second Judge 4 5 7 3 2 8 6
Find the rank correlation coefficient using Spearman’s formula. 2+8=10

(b) What are regression lines? Why is it necessary to consider two lines of regression? From the following
data find out the two regression equations:

X 1 2 3 4 5 6 7

Y 2 4 7 6 5 6 5 2+2+6=10

BNK21202
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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE

Subject Code : 21203 Course Code : BCOMH-203GE-2

Course Title : Principles of Micro Economics

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions:
Swa @ Al e Tew W ¢

(a) State the law of demand.

sifewis @b S el |

(b) Write down any four factors determining individual demand for a commodity.

<6 T Tieere vifen [ @i o [Rag e

(¢) Distinguish between returns to factor and returns to scale.

Totmicra afenie @9z Tiatere afenitas S s we)

(d) State why two indifference curves can never intersect each other.

@IS & g0 W @9 ATRE @ FA0o AT |

(¢) What do you mean by substitution effect?

AT ool Tece @Il ?

(f) What is meant by production function?
oAV SCFF FECS I AN ?

(g) Distinguish between fixed cost and variable cost.

7 39 ¢ RS T W AfH e |

(h) Define Perfect Competition.
syt afstaforet Fits e

BNK21203
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2. Answer any four of the following questions: 5%x4=20

«[CD]
(a)

(b)

(©

(d)

()

®

G-I BIFfT 2 Teh WS ¢
What is budget line? Explain with the help of diagram, the effect of change in income of the Consumer

on the position of the budget line. 1+4=5

ACES @R DICF A2 ST @A ORI S (Felw oy AfRwsew delq, eriban AR
I AT

State the law of variable proportions. Explain different types of returns to scale with the help of
isoquant curves. 1+4=5

Affada orpeiites f¥faf fRge e | st @t raa ey [fen wwem war sfaders dfeunw
[ <wCl |

In which type of market, price discrimation takes place? Explain the conditions of profitability of
price discrimination. 1+4=5

(I {RACR AGIE WIS SRE e q0B 7 TN 2L FACCT 26AF O it F |
Explain the difference between profit maximisation and cost minimisation by a firm (use suitable
diagrams).

@B FIGE e AT @) T AT ACIOET Wy AN [ FE (TR g =) |

What is Supply Curve? Show that the Supply Curve under monopoly market is absent.  1+4=5
Q@A @ FECS F @R e (@, GFGHA ASCE @9 @A @R TR Al

Give an idea of Oligopoly market. What are the elements of perfect competition and monopoly in
the monopolistic competition. 2+3=5

wleralsifer e @ qmeal vis | @bl afefsrer qreiE 3 afswifirer Some ¢ awmhae
Tolmie 1 Fe

3. Answer any one of the following questions: 10x1=10
R FE) GF7 AvsE TeR Wi 2
(a) Graphically explain the long-run equilibrium of a firm under perfect competition. 10

(b)

BNK21203

s effSrafarea A @Ne TR AEFE SRR, ETbEa T T FE! |

Write down the necessary and sufficient conditions for consumer’s equilibrium. For a normal
commodity, show that the Price Effect is the sum of Income and Substitution Effect. 2+8=10

(SR SRAGIT e ¢ WA S 1 @l | 93 FeiRs waa v @te @, wiN Ao
%7 Oy Zold ¢ A9 2eas (B |
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B.Com. Semester-I1 (Honours) Examination, 2018
COMMERCE

Subject Code : 21203 Course Code : BCOMH-203GE-2

Course Title : Principles of Micro Economics

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions:
Swa @ Al e Tew W ¢

(a) State the law of demand.

sifewis @b S el |

(b) Write down any four factors determining individual demand for a commodity.

<6 T Tieere vifen [ @i o [Rag e

(¢) Distinguish between returns to factor and returns to scale.

Totmicra afenie @9z Tiatere afenitas S s we)

(d) State why two indifference curves can never intersect each other.

@IS & g0 W @9 ATRE @ FA0o AT |

(¢) What do you mean by substitution effect?

AT ool Tece @Il ?

(f) What is meant by production function?
oAV SCFF FECS I AN ?

(g) Distinguish between fixed cost and variable cost.

7 39 ¢ RS T W AfH e |

(h) Define Perfect Competition.
syt afstaforet Fits e

BNK21203

2x5=10
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2. Answer any four of the following questions: 5%x4=20

«[CD]
(a)

(b)

(©

(d)

()

®

G-I BIFfT 2 Teh WS ¢
What is budget line? Explain with the help of diagram, the effect of change in income of the Consumer

on the position of the budget line. 1+4=5

ACES @R DICF A2 ST @A ORI S (Felw oy AfRwsew delq, eriban AR
I AT

State the law of variable proportions. Explain different types of returns to scale with the help of
isoquant curves. 1+4=5

Affada orpeiites f¥faf fRge e | st @t raa ey [fen wwem war sfaders dfeunw
[ <wCl |

In which type of market, price discrimation takes place? Explain the conditions of profitability of
price discrimination. 1+4=5

(I {RACR AGIE WIS SRE e q0B 7 TN 2L FACCT 26AF O it F |
Explain the difference between profit maximisation and cost minimisation by a firm (use suitable
diagrams).

@B FIGE e AT @) T AT ACIOET Wy AN [ FE (TR g =) |

What is Supply Curve? Show that the Supply Curve under monopoly market is absent.  1+4=5
Q@A @ FECS F @R e (@, GFGHA ASCE @9 @A @R TR Al

Give an idea of Oligopoly market. What are the elements of perfect competition and monopoly in
the monopolistic competition. 2+3=5

wleralsifer e @ qmeal vis | @bl afefsrer qreiE 3 afswifirer Some ¢ awmhae
Tolmie 1 Fe

3. Answer any one of the following questions: 10x1=10
R FE) GF7 AvsE TeR Wi 2
(a) Graphically explain the long-run equilibrium of a firm under perfect competition. 10

(b)

BNK21203

s effSrafarea A @Ne TR AEFE SRR, ETbEa T T FE! |

Write down the necessary and sufficient conditions for consumer’s equilibrium. For a normal
commodity, show that the Price Effect is the sum of Income and Substitution Effect. 2+8=10

(SR SRAGIT e ¢ WA S 1 @l | 93 FeiRs waa v @te @, wiN Ao
%7 Oy Zold ¢ A9 2eas (B |
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B.Com. Semester-I1 (Programme) Examination, 2018
COMMERCE

Subject Code : 21204 Course Code : BCOMP-201C-1B

Course Title : Principles of Micro Economics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions: 2x5=10

T G- P dted TEd WS ¢

(a) What do you understand by supply?
Q9 TETCe F G 2

(b) Define Monopoly Market.

G AR AL 7G|

(¢) What is price discrimination?
VI AL I A2

(d) What is meant by elasticity of demand?
vifena fEfegierrel Tece F @RiF?

(¢) What is an Isoquant?

AIRAMS (A FICF AT 2

(f) Distinguish between Fixed Cost and Variable Cost.

37 7 ¢ AfGaSTas e W Ay Fot @i

(g) Mention the basic features of a perfectly competitive market.
o4 dfSciforonEs At o @Rl Sm FEt

(h) What is Substitution effect?
AfRTS 2ol e
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2. Answer any four of the following questions: 5%x4=20
GBI deid ©E 7S ¢

(a) Draw a diagram to show the shape of AFC. Discuss the relation between AC curve and MC curve.

2+3=5
foraa T 1w 7 T8 @R OIS G @e | T I @2 e AT I @R [ TAHF S
AT
(b) What is an Indifference Curve? Discuss, in brief, the properties of indifference curve. 1+4=5
e el e et WA @R @Rl Aol SEval e |
(¢) What are the factors affecting price elasticity of demand? 5

(I (I Temeara =i o were REfegieet deifve 277

(d) What is Cost Function? Describe the relationship between Short Run Average Cost and Marginal

Cost Curves with the help of a diagram. 1+4=5
AR AT T A2 G0 HrEw AR FEHEAS o8 T @9 ¢ 2T T @ N TAHF 39
BI&IN

(¢) What are the assumptions of Prefect Competition? 5
51 afecaifie wmmafn F Fe

(f) What do you mean by Price Discrimination? Discuss, in brief, under what conditions price discrimination
is possible. 1+4=5

VI 7S 00 S AN 2 W AL (I I XS AATTE T 7, O FRCFHCA WA T |

3. Answer any one of the following questions: 10x1=10
- 9T A0 TEH WS ¢

(a) With the help of indifference curve and budget line, explain the equilibrium of a consumer. What
is Price Consumption Cruve? 8+2=10

Ao @ e IET @AF AR GG (SIS SIFARY R IR | WN-colel @R FIF A0 2

(b) What is demand? State the Law of Demand, and illustrate it with the help of a demand schedule
and demand curve. 2+2+6=10
sifen SFicE a2 wifaww o =0t St 93k wifent wifes ¢ siftwl e s wifgns T Reifse
RASEI GRS IEN
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Course Title : Principles of Micro Economics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions: 2x5=10

T G- P dred Ted WS ¢

(a) What do you understand by supply?
Qe TS F A 2

(b) Define Monopoly Market.

G AR AL 7S |

(¢) What is price discrimination?
VI AL I A2

(d) What is meant by elasticity of demand?
vifena fEfegierrel Tere F @RiF?

(¢) What is an Isoquant?

AIAMS (A FICF AT 2

(f) Distinguish between Fixed Cost and Variable Cost.

37 7 ¢ AfGaSTaE e W Ay Fom @

(g) Mention the basic features of a perfectly competitive market.

o efsaifiene Arweg & @Ryl Sex Fw@ |

(h) What is Substitution effect?
AfFS 2o e
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2. Answer any four of the following questions: 5%x4=20
GBI diE TE 7S ¢

(a) Draw a diagram to show the shape of AFC. Discuss the relation between AC curve and MC curve.

2+3=5
foraw T 1% 77 T8 @R OIS G @e | T I @2l e AfeF I @R [0 TAF S
AT
(b) What is an Indifference Curve? Discuss, in brief, the properties of indifference curve. 1+4=5
e el e et WA @R @Rl Aol Sl e |
(¢) What are the factors affecting price elasticity of demand? 5

@I @I R ==l sl weere BiegsiTel gelie gwe

(d) What is Cost Function? Describe the relationship between Short Run Average Cost and Marginal

Cost Curves with the help of a diagram. 1+4=5
AR AT T A2 G0 HrEw AR FEHEAS o€ T @4 ¢ 2T T @ N AHF 39
Al

(¢) What are the assumptions of Prefect Competition? 5
s efScaiforer smmst F Fie

(f) What do you mean by Price Discrimination? Discuss, in brief, under what conditions price discrimination
is possible. 1+4=5

VI #2002 W AL (I I WS AATTE T 2, O FRCHCA WA T |

3. Answer any one of the following questions: 10x1=10
- 9T A0 TEH WS ¢

(a) With the help of indifference curve and budget line, explain the equilibrium of a consumer. What

is Price Consumption Cruve? 8+2=10

Ao @ e IET @AF AR GG (SIS SIFARY TR IR | WN-colel @A FIF A0 2

(b) What is demand? State the Law of Demand, and illustrate it with the help of a demand schedule
and demand curve. 2+2+6=10

sifzv e 30 2 sifavia Sew e et @3 sifaw oifee @ sifew @2ig g sifzre et et

OICT AT 1|
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Subject Code : 21204 Course Code : BCOMP-201C-1B

Course Title : Principles of Micro Economics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions: 2x5=10

T G- P dred Ted WS ¢

(a) What do you understand by supply?
Qe TS F A 2

(b) Define Monopoly Market.

G AR AL 7S |

(¢) What is price discrimination?
VI AL I A2

(d) What is meant by elasticity of demand?
vifena fEfegierrel Tere F @RiF?

(¢) What is an Isoquant?

AIAMS (A FICF AT 2

(f) Distinguish between Fixed Cost and Variable Cost.

37 7 ¢ AfGaSTaE e W Ay Fom @

(g) Mention the basic features of a perfectly competitive market.

o efsaifiene Arweg & @Ryl Sex Fw@ |

(h) What is Substitution effect?
AfFS 2o e
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2. Answer any four of the following questions: 5%x4=20
GBI diE TE 7S ¢

(a) Draw a diagram to show the shape of AFC. Discuss the relation between AC curve and MC curve.

2+3=5
foraw T 1% 77 T8 @R OIS G @e | T I @2l e AfeF I @R [0 TAF S
AT
(b) What is an Indifference Curve? Discuss, in brief, the properties of indifference curve. 1+4=5
e el e et WA @R @Rl Aol Sl e |
(¢) What are the factors affecting price elasticity of demand? 5

@I @I R ==l sl weere BiegsiTel gelie gwe

(d) What is Cost Function? Describe the relationship between Short Run Average Cost and Marginal

Cost Curves with the help of a diagram. 1+4=5
AR AT T A2 G0 HrEw AR FEHEAS o€ T @4 ¢ 2T T @ N AHF 39
Al

(¢) What are the assumptions of Prefect Competition? 5
s efScaiforer smmst F Fie

(f) What do you mean by Price Discrimination? Discuss, in brief, under what conditions price discrimination
is possible. 1+4=5

VI #2002 W AL (I I WS AATTE T 2, O FRCHCA WA T |

3. Answer any one of the following questions: 10x1=10
- 9T A0 TEH WS ¢

(a) With the help of indifference curve and budget line, explain the equilibrium of a consumer. What

is Price Consumption Cruve? 8+2=10

Ao @ e IET @AF AR GG (SIS SIFARY TR IR | WN-colel @A FIF A0 2

(b) What is demand? State the Law of Demand, and illustrate it with the help of a demand schedule
and demand curve. 2+2+6=10

sifzv e 30 2 sifavia Sew e et @3 sifaw oifee @ sifew @2ig g sifzre et et

OICT AT 1|
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Candidates are required to give their answers in their own words

as far as practicable.

1. Answer any five of the following questions:

A I Ao 2T TR 7S 3

(a) What is ‘Kyoto Protocol’?
‘Kyoto Protocol” F?

(b) Define mixed economy.

R weifeq st nie |

(c) What is internal environment?
TSRSl AT FCF e ?

(d) What do you meant by global warming?
freSrere s @2

(¢) What do you mean by non-renewable resources?

sifoze F~oln qe1ce (IR ?

(f) Define business environment.

FAE AR e wie |

(g) What is Socio-cultural environment?
AT AT FCT A2
(h) How many types of economic system are existing in the world?

A oy 9 gaee wdE Sz ?

BNK21204
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2. Answer any four of the following questions: 5%x4=20

A TP BIFG AT TEd WIS ¢

(a) What are the differences between internal and external environment?
wrergd ¢ AT AEeR W Ay @l

(b) What steps have been taken to control global warming in India?
oRre ReSwere afewaity F F 9w 9zt T Z@eR?

(¢) Explain the role of Technology in the growth of business.
FART R 2 &a o el |

(d) Explain the social responsibilities of business.
A AR wigslE 1 5

(¢) What are the advantages of Public Enterprises?

T Somieem kst @t

(f) Distinguish between Renewable and Non-renewable Resources.

RN =97 @ AR T e 2Ny I |

3. Answer any one question from the following: 10x1=10
R e GG AR Teq wie ¢

(a) What is conservation of Natural Resources? Explain the different methods of Conservation of
Resources. 2+8=10

o A Fl 2 e Fwerd [fen samfeal Siesa et

(b) What is Culture? Explain the role of Culture in the functioning of an organisation. 2+8=10
GRS Fl7 @I TN FIET=Imee AR ShiF A1 FET |

BNK21204
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B.Com. Semester-I1 (Programme) Examination, 2018 2. Answer any four of the following questions: 5%4=20
COMMERCE N F-@E G ArE TER e ¢

(a) What are the differences between internal and external environment?

bject Code : 21205 C Code : BCOMP-202C-2B ~
Subject Code ourse Lode TrerEar ¢ TS A e Ay @Rl

rse Title : Business Environmen L .
Course Title : Business Environment (b) What steps have been taken to control global warming in India?

Time: 2 Hours Full Marks: 40 SIATe ReSrer afe@ny 1 F I9E 97 I 2R

(¢) Explain the role of Technology in the growth of business.

The figures in the margin indicate full marks. - -
FAET R 2 &a o el |

Candidates are required to give their answers in their own words

as far as practicable. (d) Explain the social responsibilities of business.
I AN vl 3@ 7|
1. Answer any five of the following questions: 2x5=10 (e) What are the advantages of Public Enterprises?
AR A Aflo AesE TeR WS ¢ Tl Sooier AR et

(a) What is ‘Kyoto Protocol’? (f) Distinguish between Renewable and Non-renewable Resources.
‘Kyoto Protocol’” 2 SR 97 €@ AR T e 2Ny |

(b) Define mixed economy. 3. Answer any one question from the following: 10x1=10
e weifos wicel wie | Sva @ G e Ted WS ¢

(c) What is internal environment? (a) What is conservation of Natural Resources? Explain the different methods of Conservation of
Trergare AR FIF AT Resources. 2+8=10

(d) What do you meant by global warming? T T 2 Ao el [(fen smfesis wicEnar st

RSee 909 T @I ? (b) What is Culture? Explain the role of Culture in the functioning of an organisation. 2+8=10
GRS Fl7 @FH Mo FET=Imee Ao SR A1 FET |

(¢) What do you mean by non-renewable resources?

sifoze F~oin qe1ce (IR ?

(f) Define business environment.

FAE AR A wie |

(g) What is Socio-cultural environment?
AT eT AT FCT A2
(h) How many types of economic system are existing in the world?

A oy 9 gaee wdE Wiz ?

BNK21204 Please Turn Over BNK21204
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B.Com. Semester-I1 (Programme) Examination, 2018 2. Answer any four of the following questions: 5%4=20
COMMERCE N F-@E G ArE TER e ¢

(a) What are the differences between internal and external environment?

bject Code : 21205 C Code : BCOMP-202C-2B ~
Subject Code ourse Lode TrerEar ¢ TS A e Ay @Rl

rse Title : Business Environmen L .
Course Title : Business Environment (b) What steps have been taken to control global warming in India?

Time: 2 Hours Full Marks: 40 SIATe ReSrer afe@ny 1 F I9E 97 I 2R

(¢) Explain the role of Technology in the growth of business.

The figures in the margin indicate full marks. - -
FAET R 2 &a o el |

Candidates are required to give their answers in their own words

as far as practicable. (d) Explain the social responsibilities of business.
I AN vl 3@ 7|
1. Answer any five of the following questions: 2x5=10 (e) What are the advantages of Public Enterprises?
AR A Aflo AesE TeR WS ¢ Tl Sooier AR et

(a) What is ‘Kyoto Protocol’? (f) Distinguish between Renewable and Non-renewable Resources.
‘Kyoto Protocol’” 2 SR 97 €@ AR T e 2Ny |

(b) Define mixed economy. 3. Answer any one question from the following: 10x1=10
e weifos wicel wie | Sva @ G e Ted WS ¢

(c) What is internal environment? (a) What is conservation of Natural Resources? Explain the different methods of Conservation of
Trergare AR FIF AT Resources. 2+8=10

(d) What do you meant by global warming? T T 2 Ao el [(fen smfesis wicEnar st

RSee 909 T @I ? (b) What is Culture? Explain the role of Culture in the functioning of an organisation. 2+8=10
GRS Fl7 @FH Mo FET=Imee Ao SR A1 FET |

(¢) What do you mean by non-renewable resources?

sifoze F~oin qe1ce (IR ?

(f) Define business environment.

FAE AR A wie |

(g) What is Socio-cultural environment?
AT eT AT FCT A2
(h) How many types of economic system are existing in the world?

A oy 9 gaee wdE Wiz ?
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Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
(a) The arithmatic mean of 7, x -2, 10, x + 3 is 9, find the value of x.
(b) Mean = 600, median = 594, find the mode.
(c) Find the Pearson’s measure of skewness when mean =86, median = 80 and standard deviation = 43,
(d) Write down the range of coefficient of correlation. What do you mean by perfect correlation?
(e) Obtain the standard deviation of 4, 8, 10, 12, 16.
(f) What is Index Number? State the uses of Index Number.
(g) What do you mean by primary data and secondary data?
(h) Write two merits of median.

2. Answer any four questions: 5%x4=20
(a) Calculate the median of the following frequency distribution.
Class: 10-15 15-20 20-25 25-30 30-35
Frequency: 6 9 11 7 7

(b) Show that the correlation coefficient between two variables lies between —1 and 1.

(¢) The following data refer to the dividend (%) paid by two companies A and B over the last 7 years:
A 4 3 4 15 10 11 9
B 12 3 3 15 6 4 10

Calculate the coefficient of variations and comment.

(d) The first two moments about the value 4 are 12 and 220 respectively. Find the mean and variance
of the observations.

(e) Obtain the equation of the line of regression of yield of rice (y) on water (x) from the data given

below:

Water in 12 18 24 30 36 42 48
inches (x)

Yield of Rice | 53 57 62 72 80 87 84
in Tons ()

BNK21202 Please Turn Over
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(2)

(f) The Arithmetic mean of the following distribution is 46-5. Find the missing frequency of the

distribution:
Marks 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of students 10 20 ? 25 15

3. Answer any one question:

(a) (i) Define rank correlation.

10x1=10

(i) Inacompetition, two Judges ranked 8 students A, B, C, D, E, F, G, H in order of their preference
as shown in the following table:

A B C D E F G
First Judge 5 2 8 1 4 6 3 7
Second Judge 4 5 7 3 2 8 1 6

Find the rank correlation coefficient using Spearman’s formula.

2+8=10

(b) What are regression lines? Why is it necessary to consider two lines of regression? From the following
data find out the two regression equations:

X 1

2

3

4

Y 2

4

7

6

BNK21202
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